single-threaded-relation3!!4°

Ves:ES, P:(E— P), R:(E—-E— P).

(VeE Dec( (e)))

= (Ve, ¢":E. Dec(R(¢’,e)))
= R=>Azy. (x <y)

= (Ve, e":E. (P(e) & R(e',e)) = P(e'))

= (Vm, m":E.

P(m) = P(m') = (Ye:E. (e R m) = (=P(e))) = (Ve:E. (e R m’') = (=P(e))) = (m = m'))
= (Va, b, e:E.

(V:E yE.zc<e=yc<e= Plx)= Ply) = (e R"+y)V (z=vy)) V (y R+ x)))

= (R(e,a) & R(e,b))

= (P(e) & P(a) & P(b))

= (Vz:E. =(R"+(e,2) & R"+(z,a) & P(2)))

= (Vz:E. =(R"+(e,2) & R"+(z,b) & P(z)))

= (a=b)

= (Ve, ¢:E. P(e) = P(e/) = (e R"+ ¢) V(e=¢")) V (¢/ R"+ ¢)))
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